+ - X+T=+-XF+T=+-XT=+-X+T=+4+-X<=
q_/.
=7 Eggy Math
+ - X + = - X+ =+-X+T=+-X+T=+4+-X<=

Let’s do some eggy math! Complete the questions below. (P.S. Don’t forget your calculator!)

-

How many eggs are in a dozen?

DID YOU
KNOW?

2. What is the total number of eggs produced each year? In Canada, there
are about 25,000,000
laying hens (female
chickens).

Each hen, on average,
produces 350 eggs

3. How many dozen eggs do we produce in Canada each year? per year.
(Round to the nearest million)

4. Canada’s population is close to 37.8 million people. If all the eggs produced were
divided evenly among all Canadians, how many eggs would each Canadian get each
year? (Round down to the nearest egg)
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